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Code Ng.
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Candidates must write the Code on
the title page of the answer-boak.

o FTW AE & fF 9 - ¥ qfia g8 19 §

o - X Qe Y F AR U M AT T F oF SW-YEE & 7E-US W fag |

o TUE Ww W o & T OIA-uT N 41 9 ¢

o FUA W w1 IW TG TE & A UgH, Wy H wUw da@vd Tl |

o I YT W W & fAU 15 e w1 wwa fom mw } ( WR-w @ a0 [Eg ¥
10.15 &= fFa m@m | 10.15 a= ¥ 10.30 a9 A% TH FaA W¥A-F F 1@ ik
79 Yy ¥ g 3 IW-id W ¥ W A8 e

s  Please check that this question paper contains 19 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate. '

o Please check that this question paper contains 41 questions.

o Please write down the Serial Number of the question before
attempting it.

s 15 minutes time has heen allotted to read this question paper. The gquestion
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

Hebferd gatl - I
SUMMATIVE ASSESSMENT - II

fasma

SCIENCE

fA9fRa 999 - 3 gve Ifrpay IF ¢ 80
Time allowed : 3 hours : Maximum Marks : 80
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1. 39 FmtS AH & g Sl & AW T§ 99 fafay, e ywais TR - OH

g | 1

Write the name and formula of the second member of the carbon
compounds having functional group — OH.

2. WR9 3 4 ufafE 3w 9 @ Ieam ST | 1

State one function of iris in human eye.

3. T a1 # 9@ AgESH & IeG WR G e SOl el GO fafntor sfediee ®
fam e & 7 1
What happens when higher energy ultraviolet radiations act on the
oxygen at the higher level of the atmosphere ?

4, fHf omem dwEm H A IOEE W OW 10,000 o I ey ), @ fadiaw
ITARAN & T JAAE ITHH F ARG &4 & A e Fo Iuas gnt 2 1

In a food chain, if 10,000 joules of energy is available to the producer, how
much energy will be available to the secondary consumer to transfer it to
the tertiary consumer ?

5. A FF q few Mo € -
6C, g0, oNe, ,;Na, ,8i
() ¥ Y 9@ g St s aed ¥ g9 wifee
(i) % ¥ 7@ g B @ wE § 3 T |
T® YT W YUY 9949 & fou FRor fAfEe | 2
Choose from the following :
¢C, §0, ;oNe, Na, 51
(1) Elements that should be in the same period.

(ii) Elements that should be in the same group.
State reason for your selection in each case.

6. HE @ X e Wil & R IEd ol RS WHE H 7 | 39 a™ (i) @
soagie O, (i) # gaear [AfET | 3T 3T S SR gied IE S | 2

An element X' belongs to gd period and group 17 of the periodic
table. State its (i) electronic configuration, {ii) valency. Justify your
answer with reasoning.

3111 3 P.T.O.
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10.

11.

12.

13.

31/1

wRfafadl & G AR N Sk F IE (@) T 3 T3 wEes §

Name an organism which reproduces by spore formation. List three
conditions favourable for spores to germinate and grow.

I & o § 8= & qffd F1 g Y |
State the role of placenta in the development of embryo.

JHY R0 @ S0 W9E g9 @ TSV Ul & 3w & € 4 3 RO &
T T SR o9 R 5 ofu ¥ wedd & wwe e femn W e &K
g1 3 QRN g 99T §U WEdd & Uvel T G # Ieod ST |
37 Ul & ST gN IEhe oW & WO o9 g%dl o & g e E &
yfafa &1 fefa g Fifsw

Ta comstruct ray diagram we use two light rays which are so chosen
that it is easy to know their directions after reflection from. the
mirror. List these two rays and state the path of these rays after
reflection. Use these rays to locate the image of an object placed
between centre of curvature and focus of a2 concave mirror.

fedt #i= & T § T80 TR & Yod fRE-IE & TEE W IS faEee S qu
F fau qmifed fewr ema @ifa |

Draw a labelled ray diagram to illustrate the dispersion of a narrow beam
of white light when it passes through a glass prism.

HA H T A ) ardlEs ol § 38 W (ITE W) 6 g § | it
NG F "grEar § 39E e R |

A star appears slightly higher (above) than itz actual position in the sky.
Illustrate it with the help of a labelled diagram.

Fe I & T § 3T dF gweEell 1 OTF §ARY 1 39 EEs T OEE W
TRy |

List three prablems which arise due to comstructicz :i big dams.
Suggest a solution for these problems.

?7?

List the products of combustion of fossil -.: -~ ~..iat are their zZverse
effects on the environment ?
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19.

20.

21.

22,

23.

3111

IO ATl SR Efes @il F faied &0 @l @ femasd @1 g w
afds ¥ aREy | yAF &1 UH-UF I 4 9 |
List in tabular form two distinguishing features between acquired traits
and inherited traits, with one example of each.

Saren W YeR 940 § 2 Starem @ eng frelfie @ & fafudi @ adg ¥
ol Sifsu |

How are fossils formed ? Describe, in brief, two methods of determining
the age of fossils.

FR UH TEEEEG % (i) W MR (i) Y9 Tvg <Uui, ¥ Iggm fET W @
g0 & YHH F It HINT | TIAF TR H A IW # U F fAu @R
ferfEe |

State the types of mirrors used for (1) héadh'ghts and (1i) rear view mirrors,
in cars and motorcycles. Give reason to justify your answer in each case.

4cmﬂﬁ13ﬁéfﬁﬁ24cmtﬁﬂ§ﬂ#ﬁﬁﬁﬁ%ﬂ@w%mﬁmﬁl
e & o9 A T 16 cm B | W T H 3TN K FA4 Ao wiafaE #) fefa,
wigst UE NFA J R |

A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 24 cm. The distance of the object from tbe lens is
16 cm. Find the position, size and nature of the image formed, using the
lens formula.

FE 1fF T 7 A @ D 1w ¥ 79 g0 R fom amd #F wE W 2@ A
21 % f¥u gt dw R difed 2 2 mmﬁmmmmmmé?m
() e 5 3 8% (u) TeeA & fau o fawo sma @iy |

An old man cannot see objects closer than 1 m from the eye clearly.
Name the defect of wvision he is suffering from. How can it be
corrected ? Draw ray diagram for the (1) defect of vision and also
(i1) for i1ts correction.

TRSEEA 1§ ? (i) U9 gReEEA, (i) gD FREEEAl & AH ¥ g
T faf@r oo v TER F UG FREIEEA & GEA & Uy | fEE sdgd
ERSIFE F fFR ¥&R Ig@ A9 I GEAT § 7

areET
Wﬁﬁﬁg@mﬂmm%?HTI?@F@EWH@%%MJM_%&[W@
& el @ g sEey | 3 e Wof, S osie TOFERwEn awn nien s
2a €, gor % foq sunelel & Iugw @ @ = ferEe |
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diagram of human female reproductive system and label the

FREE Edpgsgion

26.

311

(1) that produces eggs.
(i) where fusion of egg and sperm takes place.
(iit) where zygote is implanted.

What happens to human egg when it is not fertilised ?

el ol E SHIV & Wadd & for 78 F6g fog aiuet #F g 99RY )
A diee 38 fog uRUE &1 SRl e 3R et i & wee g0 T el
& e s6 & FIST S g1 & ¥ 18 om §0 W fem el oo &1 1/3 T
REfla td A ol ama 2

Sterar
THY o SR R GEEdT ¥ YW § UadT § ad & Ioo@ FfWT | wERr
F uEdd & fAU V9 & AW F1 30w FET 70 W MR w9 § = o
& |
Y F AW AY T A /3 A AqG F NG WA 1 NGIAAF 4/3 ]
g &9 T 5w F oG 2 x 10° wis &, @ (2) Y F, (b) 7 T, "W
A TG B

List the new Cartesian sign convention for reflection of light by
spherical mirrors. Draw a diagram and apply these conventions for
calculating the focal length and nature of a spherical mirror which

forms a 1/3 times magnified virtual image of an object placed 18 ¢m
in front of it.

OR
With the help of a ray diagram, state what is meant by refraction of
light. State Snell’s law for refraction of light and also express it
mathematically. '
The refractive index of air with respect to glass is 2/3 and the refractive

index of water with respect to air is 4/3. If the speed of light in glass is
2 x 10% m/s, find tbe speed of light in (a) air, (b) water.

8
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SECTION B
W GehT AU FoE T % S faerdd Hoen fRar 3 R 1
(A) A3 3k &
(B) & 3k {mEH
(C) e s ot
Dy e T m

The agueous solutions of copper sulphatz and ziec sulphate appear
{A)  blue and green respectively

{B} green and colourless Tespectively

{C} blue and brown respectively

{D} blue and colourless respectively

FIW Tk, HEG T 7 (5% T F faeas aam mo stk 31 @ &eer 1 10

T 101 T R T NS e ¥ 59 298 Tt % e o ge qed
QU VT @ T 9fEas g s 1
(Ay TR IH

(B) I sk I ¥

(C) T afit 1%

(Dy A o

Solutione of copper sulphate, iron sulphate and zinc sulphate are
prepared and marked I, II and III respectively. Few pieces of aluminium

are added ta each solution. After some time a change will be observed in

(A Tand II
(B II and Il
(Cy HIandl

(D) All the three
3] P.T.C.
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(A)
B)
(C)
D)

U Eo5 U8 Uyl faeaT 59 T ¢
T @ U The EEY a1 2

A y4% §dg &4 S 3

FE TEA & TEe e e

On adding 2 mL acetic acid to 2 mL of water in a test tube, it was
observed that

(A)
B)
(C)
D)

a clear and transparent solution is formed
a white precipitate is formed almost immediately
two separate layers were formed

a colourless and odourless gas is evolved

firdft @At o AT TEsivA F@Ae ¥ TRE ond e W R oF 38 dEr
@ 7

Ay F¢ Al = A

(B) e Ty F TR Tt fescr §

(©) A R TR T ¥ qead a ¥

(D) fo& & oo iy ol 2

On adding acetic acid to sodium bydrogen carbonate in a test tube, a
student observes

(A)
(B)
(C)
(D)

no reaction
a colourless gas with pungent smell
bubbles of a colourless and odourless gas

a strong smell of vinegar

10
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(A) I® A foeyg F ot o e § oI ged foa SR iy o @
(B) =R I fewm & & w W § ot 3ER Rl gewk & Y a7 2
(C) =R I faemm # Fren &t 31 2 2 390 fRE s 79 e 2

(D) @ OIS feqg F Aen & @ W W Tl F vE AR 2

Which one of the following are the correct observations about acetic
acid ?

(A) It turng blue litmus red and smells like vinegar
(B) It turns blue litmus red and smells like buwrning sulphur
(C) It turns red litmus blue and smells like vinegar

(D) Tt turns red litmus blue and has a fruity smell

31. fot o & © W fF g fim & wfdfem T @@ e T aEed gdw &
miFE g0 fEifE w0 2 1 =3 T g w6 F fau 39 B & =i 1

(A) IR T T vl fasiet F @

(B) F§ welt-+fifd F< gre THRA

(C) w8 gw & fgss & wa fig

(D) AR # AN F GO fFAR T W@ dvad #osaren

A student has to determine the focal length of a concave mirror by
obtaining the image of a distant object on a screen. For getting best
result he should focus

(A) a distant tree or an electric pole
(B) a well-illuminated distant building
(C)  well-lit grills of the nearest window

(D) a burning candle placed at the distant edge of the laboratory
table

3171 11 P.T.O.
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86. IR o6 I FW F FWOHR W F AR [ qER TE F o F A g9
IR 79 ARfEE U |

NN NN
AR SN

III v
fau 89 & T IMfEd Ty F wG A1 F Ay dwEa ¢ 2
a) 1
B) II
(Cy III
D) WV

Four students showed the following traces of the path of a ray of light
passing through a rectangular glass slab.

NN NN
AN

The trace most likely to be correct is that of student

A 1
By 1
(Cy I
D)y 1Iv
31N 14
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)
069, o 0P call
© 90 0 Q10 (¢
© & 0 ()
I I ITE v
A 1
(By II
(C) I
Dy IV
In which of the following figures is budding not shown ?
¢/ _ (@
%0 28 Wes
© = 0 O
I II I v
(A I
B) 1
(Cy I
D)y v
31/1 18
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40.

31/1

(8 ;
- Rk by,
et T e ey
" A V) - -

I
(A) 1, II, III (B) IV, II, III
(C)y V, 1I, I (D) IV, I, 11

From the following diagrams, select the correct ones showing stages
of binary fission in Amoeha :

A LI I0 (B) IV, II, I
(C) V. II, IO (D) IV, I, 1II

fdt o1 3 35 frufimll # A F TR % sifFa fEm 1 3w R 3T Rewfoe
F g 5§ frla | @ 2 52 & vElq 39 et @ 9 ¥ fees
3% W1 otk fim & dren ol 3w R F S e | frwfiell 20 AT o
I gfqerdar & Ui s@ F faw I fFr W awen g99 g

—X =x 100 -

@ =%« 100 ®B)

Y X

y—-x 1 '
(C) — X 7= (D) (y-x) x 100
A student weighed some raisins and recorded the weight as ‘x’. She
then soaked the raisins in distilled water. After about 2 hours she
removed the raisins, wiped them dry and weighed again and recorded
that as ‘Y. The percentage of water absorbed by raisins may be
determined using the relationship '

Ay T=X x 100 @®) =% « 100
y X
y-x 1 _
C) = " o0 (D) (y —x) x 100
18
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frviel a0 wawifE Sw € sfguaw ke @ F wd ¥ g Reeiadl )
AT 1 9 A% 9 W N F qvEm I sfm 91 e § 1 ofiom @)
aftyrEar & fay, Wit gf R ¥ 7e § A w9 W ger a2

(A) A T2 F uew
(B) ¢ Arg fFN (FNR) 70

(C) 7wt w¢ g
(D fewer ™ QW) EW

In the experiment for determining the percentage of water absorbed
by raisins, we do the Linal weighing of the raisins after keeping them
dipped in water for about one hour. For the accuracy of the result,
the extra water from the surface of the soaked raiains is removed by

{Ay rubbing with cotton cloth
(B} hot air blower

(C)  dry cotton wool

(D) filter paper

19
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